5«;,73 W’f@ﬁw WORKSHEET - (bag, ,Mb) A}{igz jﬁ

BN et YL B ) IR
B RGN o R

4
SO P R P T JiN] AN
SLELPIRE Jf J! | ]f};m
VT
3? { o f, 3 z
T

8) 1r <Y ;b (7, 7

13

Hal - ik %], - S;'] P T
Com Yor solve ﬁr A G A rige’, \,J!v?

Show ligw Moy Z s bailk
F““ a [t\aﬂor\me. JJ, 5:/1;1

T



6(1‘5;? Itﬁlmreﬂmirm WOQKXHEET' (bdsés mb) léﬁ—’f Q?.

Bisi for R fom lechee . B = 30 [ b L], b 2]

A3 -], s 22 (3] +2(]

Plob = 2ok :shi qu 1, N -1 s_\l{ .
Lw (F ﬁ'd‘m {"Cﬂml! r}, 3 1 : g /f j, //

T (2
ppl il % " [0 2;]
i" ) K '

O I <[], kb @7 e B g

Hﬂgb". (/Uf‘tt Ev:fg = 'CZJ ) Hl,én Gl . Cz -
C-'w\ ?ﬂ'\ rp(w,‘ ﬁr C“C{ ( I‘b Fl’ W‘”;‘ﬁw ,v 247

5 102)
=

L ,\,(l 0(%
o et BT [ 2 o %J

Lo 4]
e R R [5H]R) - T

%
Sec b fo e Ml Tl guatis. (Hs o i i k")

S}
.

I
]

Show b Hoy 2 s bulh
Fon a loear comb, aj, !a":,r;




